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ECONOMICS
{ Regular Generic }

Paper : ECO-RG-6016

( Economic Development and Policy of India—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the guestions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wore fRanare ot Tet o -

{a) What is the full form of NABARD?
NABARD T 3 %i°ito1 (¥, o |

(b} Define Balance of Payments.
e cerrye g fevar

24A/528




{c}

(d)

(e}

(g}

(h)
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(2)

Mention one important problem of
agricultural marketing in India,

BT IR T B! GFEL T T 7 |

What is meant by land reforms?

T AR ot & w2

In which year was WTO established?
FF v9e WTO oS cafee 2

Mention one cause of rural indebted-
ness in India.

CRES AR 9B 51 FEG TTHY I |

The Green Revolution focussed on the
production of milk and milk products.

{ Write True or False )

ot Retd oqm w79 oifes 78 WF REs
ool Beom 41
{ 5% & TS forar )

What is food mnnﬂ.ia‘.v
I I A B2

{ Continued )

1]

2. Answer the following questions :

(3}

State one weakness of industrial sector
of India.

SASIHT TS (IR 951 RIS BoEY 90

What is Jhum cultivation?
I S 12

2x5=10

aTs e e e o

(@)

(b}

{c)

()

(e)
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Is Balance of Payments always in
balance?

“HROTR BE1ot S SR W 7

Define Green Revolution.
itw e e fors |

What is
agriculture?

iR i (3 R 2

Mention two sources of agricultural
credit in India.

TREIAS P 4 751 BevA AW By 3747 |

Define large-scale industries.
28 AT Tomms e fore |

regional variation in

{ Turn Over )
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(4]

3. Answer any Jour of the following questions :
_ 5x4=20

wero frar 2nprpRd R Gt siiker T foren :

fa) Briefly discuss about the New Industrial
Policy, 1991.

3% TR TN e M R e
WA 341 |

(b) Discuss the trends in the value of
India’s foreign trade,

AT (T SR AR o e
SO 4T |

fc}  What are the causes of low agricultural
productivity in Indian agriculture?

SHeIT RS R IR Beored IR
R |

{d} Explain the difference between Foreign
Direct Investment and Foreign Portfolio
Investment. _

Qe o Rivee o ol ke
Rz e onefwr forgr |

{ Continued }

(5)

fe} Briefly explain the causes of dis-
equilibrium in the Balance of Payments.

RO TSNS SAAMITCE FAPHE BLF
Renk s f

{fi, Briefly explain the performance of
public sector industries in India.

TRTS G 4o TOmd e e
BT P |

4. Answer any four of the following questions :
10x4=40

oS Tl P R PR sifRe B g

fa) What are the components of Balance of
Payments? Distinguish between
Current Account and Capital Account of
Balance of Payments. 5+5=10

@ WeR T & R emore
SR Sfere Rt e qeeRt el e N
e

(b) Explain the various problems of Indian
agriculture, .

oeeq FReFeR Ricw steareR o 3 |
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-— Te e P PR NN PY R, T PPRWOL Y FFTEY TRy VP[4

(7)

({6)
fh} Explain the effects of agricultural price

{c) Explain the objectives and role of World policy in India. \

Trade Organization. TRET R J77 A SRR 31 31 1
Ry s e Ty e ok e =)

fd) Explain the role of foreign direct jolale

investment in a developing country like
India.

TS WA THENE e oAors (A0S
RN g T 3= |

(e} Discuss various objectives of land _
~ reform policy in India. h

%ﬁ%ﬁéx@?gﬁﬁﬂ
Lol

(/i Explain the role of small-scale and
cottage industries in F&w. Also
distinguish between the two. 5+5=10

TReHS W qF $He Soad g
791 | BrEeR e NoIpyE Wy 39 |

{g) Discuss the trends ~in  industrial
~preduction in India during the planning
period.

ARFETA IR SRST ST BeoAmig
iS4 Racy Srems=n <41 |
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